ITOTUT W8 égw BOeTY =OBY, WGe3 To, Wenwes — 560 003

KARNATAKA SECONDARY EDUCATION EXAMINATION BOARD, MALLESWARAM,
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®&,% - 01 / Paper - 01
ROV ENG BRI TOeg - 2021
SSLC MAIN EXAMINATION - 2021
AROD : NS + SRRT + BT PRI
Subjects : MATHEMATICS + SCIENCE + SOCIAL SCIENCE
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(CCE-RF / CCE-RR / CCE-PF / CCE-PR / NSR / NSPR)

Y033 Fodes
KEY ANSWERS

Rodeg Fos; 85-K/E Code No. : 85-K/E

2t BINY ZosS; : 40 + 40 + 40 = 120 | [ Total No. of Questions : 40 + 40 + 40 = 120

81.

DB 1 KWV WD
Subject : SOCIAL SCIENCE
B2 F,30000%0 JINYR e STPT TEENER o) SORNYRY JTBDINT. SYned,
BORT LOZTHRY SO TR VCBWONTOT 2.90.65T°. ( OMR ) 03T B I, e &7
T TOOLO0E WP TC0LT BIFROT BOIIT 503000 B¢t SRR 40 X 1 =40

Four choices are given for each of the following questions / incomplete statements.

Choose the correct answer and shade the correct option in the OMR Answer Sheet
given to you with a black / blue ball point pen. 40 X 1 =140

TOTRD OLBR T Y, 03ITREQOT? 339,390 T THOWO TONESHLRNBY. IFOTT LT
(A) @omm&éeoda 339,390 BRNFNE Fe0T3,

(B) ©TROTIE RORIMF NG

(C) TR0 RT3 2, T TIWIY

(D) 0320TRe03TT BOTIR[ONY DF T Bw©

QVZT: (A)  ©BOTITIKQLORD 33, TTT BRNENAY 3eog,
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Constantinople was considered as ‘The Gate of European Trade’ because it was
(A) the centre for International Trade routes

(B) the only sea route

(C) the capital of Roman Empire

(D) the only source of resources of Europeans

Ans. : (A) the centre for International Trade routes

82. HATOT BoniR, =TT CINTBIY, ZRINAYAT w0
(A) WA I wBOT (B) AIGROW w0
(C) ©OTNPT® wTOT (D) PBRET* IO

QegcT: (B) ALY WO

The First Anglo-Maratha War ended with the treaty of
(A) Bassein (B) Salbai
(C) Allahabad (D) Lahore

Ans. : (B) Salbai

83. ©oNT BOTY, STOWRLOT TNOET To;0dRODNTe
(A) QI BT (B) o000 W00
(C) &ReT SO (D) ROODT® BT

QST: (A) QR BT

The civil courts established during the British period were known as
(A) Diwani Adalats (B) Fouzdari Adalats
(C) Lok Adalats (D) Shariyat Adalats

Ans. : (A) Diwani Adalats
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84.

85.

3 85-K/E
DTTIe BoRRE-FYFRTO 0I0TT FRONTY, %, E3HT LTIF TFAT €03
(A) FPERFIREDRTY, H,TT° OB ARELD
(B) RRTO SONRRQE-TOT3 m%wq5e% &[T, :irae@%)ma
(C) TTTL ATCDF FF,; TTEN Ao T,
(D) T FIF* ,eT0MTLs L2337 wsw@f%é@o@daa

wIT: (A) RpLRrIRGREY, FTOT O Feeed

The British gained confidence during Second Anglo-Mysore War due to
(A) Haider Ali’s defeat at Porto Nova

(B) defeat of Peshwa in First Anglo-Maratha War

(C) Marathas signed Subsidiary Alliance

(D) Cornwallis captured Srirangapatna

Ans. : (A) Haider Ali’s defeat at Porto Nova
ESOVT  LRTST xmﬁgﬁ@?ﬁ TOTITNYY  SWeTNYE, QTIRTI, OBOBROT®  TOINRIOT

ﬁd@%oﬁowd&

(A)  ‘WeTNR [TV’ 0T FREARTT  (B) AT HF T,593 PYIT wd@cr% 3

(C) nrec-Tgme 50@5&2{ ST 0RRTITI (D) 53@@6 zse;owe:)oda@t 309, CORATITO

QVIT: (A) ‘WETNN BOTY’ 0T FREAITTO

Dayanand Saraswati realised that the remedies to the maladies of India are present in
Veda so he

(A) declared ‘Back to Vedas’

(B) wrote Sathyartha Prakasha

(C) started Cow Protection Movement

(D) started Shuddhi Movement

Ans. : (A) declared ‘Back to Vedas’
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86.

87.

88.

QRINTE, LTS T, T AB0Z,, AOMD, T QTOIN 0T TTED
(A) T demdg 08 BTRD

(B) QT RORO1E33 doﬁoﬁm@g

(C) %) T TODTITY, BROVTIY,

(D) ©&eT g03e03d To%T &, L3ROT TIF TR, eTaNTITO
V3T (C) W) By TORTITY BRoVTOY,

One of the causes for the failure of First War of Indian Independence among the
following, is

(A) it spread all over the country

(B) it was a well organised revolt

(C) it had no eminent leader

(D) many Indian kings were disloyal to British

Ans. : (C) it had no eminent leader

¢IOTSC0D) TO D FAOTAT T, P> 53,530

(A) TR A TR (B)  ROTCOT, [T 230, T
(C) TRTWRIOW I=Teee (D) rﬁmm@%@ e

QVFT: (A) TR R W TR

The First President of the Indian National Congress was
(A) W. C. Bannerjee (B) Surendranath Banerjee
(C) Dadabhai Naoroji (D) Gopal Krishna Gokhale

Ans. : (A) W. C. Bannerjee
B3 FYNTHTY_ BOOTMOLONY Moo Fe0TRTO

(A)  ©OTNOT RO (B) rﬁmm@%@ e
(C) WOONOMFT 80T° (D) PO OWITT® ToOIF

QZT: (B) rﬁfaeme)s@@ge e
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90.

5 85-K/E

The one who belongs to moderates among the following is

(A) Aurobindo Ghosh (B) Gopal Krishna Gokhale
(C) Bal Gangadhar Tilak (D) Lala Lajpat Rai

Ans. : (B) Gopal Krishna Gokhale
Mo0QeCIWTY 30TTEH® wmw@omg{ @dow%ma
A) e® ?j%?mdd@t Bowdzen (B) =8 zﬁ%ﬁmdd&g{ Bowdzen

(C) 338 zﬁ@ﬁmdd&g{ Bowdnen (D) &3¢ @ﬁw €E3° FOF TR, wowdzmen

QegcT: (A) D zﬂ@mddabq Wowdzmen

Gandhiji launched Champaran movement to support

(A) Indigo growers (B) Cotton growers
(C) Tadi growers (D) Tea Estate workers
Ans. : (A) Indigo growers

Te0T, TG TONRT® T ;e BOT WIOTR), 20, W A5oF TF, 2000TONTLD FoTED
(A)  ROCHT* TN BT, FOTWRTIY Wowdzen

(B) 30003 IS, BTY, mo@ezﬁoﬁowd@t BWowdzeo

(C) RRT éadocgg ESTTFTOT BRCTLD

(D) QTS RTBONTI), WeTHOFED

VT (C) o URT HTIT WIATTIT ERETL)

Rabindranath Tagore returned his title ‘Knighthood’ back to British Government

because to

(A) support the Jallianwala Bagh massacre

(B) support Gandhiji in Champaran Satyagraha
(C) express his non-co-operation against British
(D) boycott of foreign goods

Ans.: (C) express his non-co-operation against British
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91.

92.

93.

WOTBT YUBT WOOH,
(A) RTFT® WIIocd wedee? (B) o0 R0ygomron, BReR®
(C) 2WOONOMIGFT SOF° (D) WO eﬁozﬂeaipe

QVIT: (A) RTFT* BYLIIoold Tedeer

The Tron Man of India’ is
(A) Sardar Vallabhbhai Patel (B) Netaji Subhash Chandra Bose
(C) Bal Gangadhar Tilak (D) Babasaheb Ambedkar

Ans. : (A) Sardar Vallabhbhai Patel
RTST BONGOS IVON 20T,

(A)  268¢ BB LWT* 1950 (B) 263¢ ©nxf 1950
(C) 158¢ &=’ 1950 (D) 263¢ xI=O 1950
QIS (D) 268¢ WIWO 1950

The Constitution of India was adopted on

(A) 26th October, 1950 (B) 26th August, 1950

(C) 15th August, 1950 (D) 26th January, 1950

Ans. : (D) 26th January, 1950
ERETI0INT FTIOD HVT3e3

(A)  TROR,ITO BB (B) %3o3RezuT SHODWd
(C) To,T3edBZ BT8O0 (D) PT0 ciciovelov)

eVZT: (D)  %,TWPT SBOLD

The objective of establishing Lokayukta institution is to check

(A) Communalism (B) Terrorism
(C) Regionalism (D) Corruption
Ans.: (D) Corruption

1701 (KA



94.

95.

96.

7 85-K/E
T BIMOT Blo THFT),
(A) TS B0 ey (B) 2908 3020 Pegow
(C) RTE &) WeTw (D)  ¢RTE &08) &,c008

QI (C) RT3 I e

The Panchsheel principles were signed between
(A) India and Nepal (B) India and Bhutan
(C) India and China (D) India and Sri Lanka

Ans. : (C) India and China
0TI dw_%cﬁ JoRVIROAN m@&%cﬁ 5%%8@ 202 GJ‘O%ﬁS %m@@ﬁ%ﬁ

()  RTTUR B WG, T WOBY YU § OB

(B) Ree0 303 wOINT FYED 0B YIS OB
(C) P, BB et 5L [OBY YV FMedsnsd
(D) TRIFO =T BOMOFFT FLE 0TI YVIT § OB

wgo: () wRTUR FBY Y T WBY YUER §ROTND

The Iron and Steel Industries established by India with the help of Russia are
(A) Bokaro and Bhilai Iron and Steel Industries

(B) Salem and Vijayanagar Iron and Steel Industries

(C) Bhadravathi and Bokaro Iron and Steel Industries

(D) Rourkela and Durgapur Iron and Steel Industries

Ans. : (A) Bokaro and Bhilai Iron and Steel Industries

LRTIT NTICTOOMN QeS0T doerid BTN

(A) eﬁozﬁeaipe 93T DTIETON e (B) RToFT° Be3eT TIETo0N 168

(C) JTTRTIT NTeTo0on Jed (D)  ROTTY MORELIO[T TIeToOR Jed
T (C) IJJTRTHT RTeTo0N e
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97.

98.

99.

The Foreign Policy of India is also called as
(A) Foreign Policy of Ambedkar

(B) Foreign Policy of Sardar Patel

(C) Foreign Policy of Nehru

(D) Foreign Policy of Mahatma Gandhi

Ans. : (C) Foreign Policy of Nehru

BT BOTBD
(A) AV, B (B) 3,20 R00TY
(C) RSO (D) AOBNLT R[OB) BRFT T[0T

wI: (A) WRRT, B

The World’s Parliament is
(A) General Assembly (B)  Security Council
(C) Secretariat (D)  Social and Economic Council

Ans. : (A) General Assembly
DBFOR DO VTR, T, T LATRT
< Q@ =S -

A) F.2. d@ﬁw@; (B) ®npeixt O
(C) O 8T wBure* (D) HWPORT RS IITR

3T (A)  OF.&. dfaﬁa@;

The word ‘United Nations’ was proposed by
(A) F.D. Roosevelt (B) Joseph Stalin
(C) Winston Churchill (D) Jawaharlal Nehru

Ans. : (A) F. D. Roosevelt
@stgé OTVTIG @03%0333%{ 19766@0@713?5 WTRRHBNRLOQN 23007 STRTT),

(A)  ,TF TENE FTFED OO0 (B) ®©3 3,8 TENY FOTFFwD 5003
Q WY d ) A Q
(C) ©TTG THNE FOTFED '@oﬂ% (D)  SoN0eT BTN TOTFTD '@oﬂ%

eVgT: (D) DONOET BN FOTFFD moﬁa@
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101.

102.

9 85-K/E

Untouchability Crime Act was implemented in 1976 with necessary changes as
(A) Consumer Rights Protection Act

(B) Untouchability Right Protection Act

(C) Criminal Rights Protection Act

(D) Civil Rights Protection Act

Ans. : (D) Civil Rights Protection Act
LROFEIZ TOWF TT ,300080 WFED
A) =OF (B) ovdnRen 83930

(C) T TPy (D) JINQT I3

)
wIo: (A) TOF

The main feature of unorganised sector labour is

(A) migration (B) job security
(C) leave facility (D) fixed wages
Ans. : (A) migration

TROFTID WVBRC SOTRCOTT ToC3TTD
(A) ﬁoe@mwﬁzf (B) ROOTTCREF WIONIED
(C) BT TR, BOTT (D) &.2%35. TOWIOTILW

QIT: (A) ﬁaemmé&p‘

Narmada Bachao Andolana was led by
(A) Medha Patkar (B) Sundarlal Bahuguna
(C) Kerala Shastra Parishad (D) D. M. Nanjundaswamy

Ans. : (A) Medha Patkar

TOLIT TR NOTT
(A) TRTIMONT (B) W&
(©) eﬁw—’@o?%sé (D)  e0083

wgo: (C) waPuEs
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103.

104.

105.

Invisible hunger refers to

(A) hungriness (B)
(C) malnutrition (D)
Ans. : (C) malnutrition

BOTO &oBIRNOOINE ﬁﬁ%om BRI
(A)  SBRO, (B)
(C) 2O (D)

WIT: (A)  W[RO,

The Greater Himalayas are also called as
(A) Himadri (B)
(C) Siwaliks (D)

Ans. : (A) Himadri
PR q’yé%jd ©8 YT &80T

() R (B)
(C) =0F 30T (D)

T (C) w0F 307

The highest peak of the Eastern Ghat is
(A) Annamalai (B)
(C) Arma Konda (D)

Ans. : (C) Arma Konda
WOTBTY, 93,08 HewoT SN

(A) J[SowT* (B)
(C) =J=0 (D)

IT: (C) wINO

poverty

richness

SozII*

Himachal

Doons

530,709

9OT® FOL3TE

Amrapali

Amarkantak

BZ0200°



106.

107.

11 85-K/E
The coldest month in India is
(A) November (B) December
(C) January (D) February

Ans. : (C) January
6@—-’% ajosa%a éwawé’emos &@@%@@@%&3 33 TRODT. DFOTT 9T

(A)  2ERITIT BLANVOT BRART

(B) 3 usgadgd

(C) %990 RO¥ Ve T, T3eBNTE F0EOWTOZT
(D) ﬁz%@f WOTBREY nesd, WINRORT

VT (A)  UERTIT TONYOT BRRT

The black soil is highly retentive because it is

(A) extremely compact (B) black in colour
(C) found in heavy rainfall areas (D) pebbled rock particles
Ans. : (A) extremely compact

38,69 LTS & VT [0

(A) ToeD B) 3

£

(C) nReTI=O (D) 200Ny,

QT (C) NRTmO

The longest river in South India is

(A) Kaveri (B) Krishna
(C) Godavari (D) Tungabhadra
Ans. : (C) Godavari
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108. &3 @dwgdgﬁﬁmw FOTNY FROWNPOT WSHTOIT WPLONFD FWOTNPT S5o0=mNTIZ T
(A) TJ=FS @dsa?j (B) m?jorv_a)ae @dsa?j
(C) emaww@ojad Eb%aacgssar @dsa?j (D) TOTOLRW :S:Sagwﬁr

QegcT: (B) mgori@ae @dsa?j

The tree trunk supported by a number of stilt like roots is found in the

(A) Mountain forest (B) Mangrove forest
(C) Tropical evergreen forest (D) Desert vegetation
Ans. : (B) Mangrove forest

109. .@TT FBD DAGIRCT B SO TS 03ReRs
(A)  %TIBOT® (B) %, Sonef
(C) Vo TONTE (D) JOMORIFD TONO®

QgT: (A) 0BT

The important multipurpose river valley project of Odisha is
(A) Hirakud (B) Bhakra Nangal
(C) Pampa Sagar (D) Nagarjuna Sagar

Ans. : (A) Hirakud

110. RTBTE TMoFases L3emo000wy) BREOOTRMET. HFTT
(A) FTFOT Q68 0B STPONYR 8300300 S wBNRT
(B) 337 RITO 00e3%; 30, @dow%w%d
(C) JMFREs WeRCLTE_ WF0T0T SpE non Wekdoogy,
(D) RITO oI, 1T
VZT: (A)  ATFTT Qe B WSWRONYR 8390300 FS wBNRT
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13 85-K/E

Shifting cultivation in India is declining nowadays because

(A) of the governmental policies and tribal settlements

(B) people have now started coming out with commercial farming
(C) there is no demand for the products of shifting cultivation

(D) people are abandoning agriculture

Ans. : (A) of the governmental policies and tribal settlements

ITBT 2OTN* INT

(A)  SOOMERT (B) =200y
(©) ﬁ@@é (D) oneRTd
QVZT: (D) PO

The ‘Silicon Valley of India’ is

(A) Mangaluru (B) Mumbai
(C) Kolkata (D) Bengaluru
Ans.: (D) Bengaluru

VRNTY, LRTOTNY TOFDT THENETI 2,083 503003

(A) Q0003 ﬁraecgmf?;gl QENFRIR)T)

(B) 3TTITP F,TeINTS,_ [T mém@@ojomq QFOHTOR)TO
(C) BOITPCINT, 08 9, MR,e° TR WIY, @@%Q@*@m@m
(D) ©oSREOTIN SIERTT LRANTI) IRCQRIJTH

V3T (D) WOBRFOTYN STYERTT LRINTIY, AR QRO

One of the preventive measures for the earthquake’s effects among the following is
(A) constructing retention wall

(B) restrict sand mining in coastal areas

(C) developing mangrove forests along the coast

(D) restriction on digging of deep wells for underground water

Ans. : (D) restriction on digging of deep wells for underground water
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113. 2000 Te3TY, 2,00 THRFTY, LUTITICINTMOE DT, FTE [08Y FeR[NT LUITITHOD Ed,

BRI
(A) 3 STHOD B) I m&éeoda S{opleve)
(C) eI, (D) @J@%?%&S - Jove) maﬁaagé’

wgo: (B) I m&éeoda Slopleve)

The total value of all goods and services produced in a country during one year is

(A) Per capita income (B) Real national income
(C) Standard of living (D)  Purchasing power parity
Ans. : (B) Real national income

114. 19,30 00w, TOBOR JeRTETd
(A) TOTTRS® IHTO (B) 0OMOMOGT 805
(C) RTFT* BYPLIOOW Tede* (D) ROTTY MooGe

Qgc: (D) ajom@e MooQeR

Gram Swarajya was the concept of
(A) Jawaharlal Nehru (B) Bal Gangadhar Tilak
(C) Sardar Vallabhbhai Patel (D) Mahatma Gandhi

Ans.: (D) Mahatma Gandhi
115. To8eodd wdmsw@t 23D, usxoa%omocs RNATIIN TRTBOF)TC

(A) ©STRZQ (B) ©R30
(C) 3o SO0 (D)  23eaoa083,

QgT: (C) 3T BTCD

When the National Income is divided by the total population it is

(A) Underdevelopment (B) Development
(C) Per capita income (D) Standard of living
Ans. : (C) Per capita income
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116. 3 ©E0ARENT TIOI QTIT TRCTIRT B0 F0dT

117.

118.

(A) ROOTT OS® 20TONIED (B) 0. dR09D FT0I
(C) ez T (D) V.. TS
QgT: (B) @o. dTTIRO FToTOZ

Establishment of Kaiga Nuclear Power Plant was opposed under the leadership of
(A) Sundarlal Bahuguna (B) Dr. Shivaram Karanth
(C) Medha Patkar (D) B. V. Karanth

Ans. : (B) Dr. Shivaram Karanth
B8 BRE BW'E 153 DT 112,38 DT, SWORGRNOIT. DFOWT 50T

(A) 27 F°. FIB M9, TTT JFIY LRBHOTTID
(B) Q0T30T* M9, TFT TEYEFRI, FUR RS

(C) @%ﬁoﬂ@ 0320 1, BTT BIONTTY, HREIBI
(D) 77,37 3£, 92, CORRTDOE

QT (A) WD F°. TIB M9, HTT BTI), R BRHOTTD

15th March is observed every year as ‘World Consumers Day’ because
(A) John F. Kennedy accepted the Consumer rights on this day

(B) England declared the Consumer rights on this day

(C) UN declared Consumer rights on 15th March

(D) Consumer Education was started on this day

Ans. : (A) John F. Kennedy accepted the Consumer rights on this day
LIRTBTA, M, TF ROTFD %?O:baojo@t plelaficielniovoaty

(A) 1966 B) 1976

(C) 1986 (D) 1996

Qgc: (C) 1986

The Consumer Protection Act was passed in India in the year

(A) 1966 (B) 1976

(C) 1986 (D) 1996

Ans. : (C) 1986
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119.

120.

23 oBONY 239 0F*
(A) [T
(C) ORTF w05

Qwgc: (C) ORx'r 239, 0%°

The Banker’s Bank is
(A) NABARD
(C) Reserve Bank

Ans. : (C) Reserve Bank

T3 éz:r% 1o

(A o,
C) O
WIS (B) 00T

The ‘Gateway of India’ is

(A) Chennai
(C) Delhi
Ans. : (B) Mumbai

16

(B) @335 299,05°

D) .8.2.%.

(B) Apex Bank

(D) IDBI

(B) 002
(D) &a@g
(B) Mumbai
(D) Kolkata
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